0097 0952
00ST oove
0S6¢T 0002
000T 009T
006 ovvT
008 08¢T
0T. 9ETT
0€9 800T
09§ 968
00§ 008
144 089
0ov )
SG€ 895
g1€ e
1X9'T= 19| oz r
0S¢ oov
vee 8G¢E
00¢ 07¢
09T 95¢
14 002
00T 09T
08 8¢T
£9 T0T
o3 08
or pry
(4 18
S¢ op
ge 4
9T 06
1 52
“I1X6'T= I % &
S 11
UIXT'Z="1 ! :

nd13s3 23ua110) [v] %1 “o3uawieuoidung 3p [BUOISUSAUOYD }UII0)

(2-69209 N3) 98 stanisng

000¥ 0025
00ce 09Tt
0052 05¢e
000¢ 009z
009T 0802
0G¢T 5791
000T 00€T
c_xom_._un ‘| 008 prnes
0€9 518
00§ 059
0oV 076
oce 9T
0S¢ s
00¢ 002
09T e
S¢T T8l
00T fovscs
08 9TT
€9 T6
0§ 7
o s
4 o
“IXGY' 1= 4 5 2
oe 6¢
9T &7
0T P
9 6
v 9
£ 14
N €

[v] | ‘epe|ndis3 a3uasi0) [v] % “o3uawieuoidung 3p [BUOIDUSAUOYD }UII0)

(86809 N3) sas0unfsig




